First Exam Math 131
7-11-2012

Name Student number Section: Serial number

Fill the rectangular box with the _correct final answer.
Answers without solution details are not accepted.

Class | frequency ’("j"‘3

For questions 1-3. Consider the following table that represents a quiz results for 10 students g : g g _t,' 4 ,)7:
9-11 1 iolie
: (v by
1. Find the actual limits of the first class CAQ\ 5" 2. 5)
2. Find the mean of this sample 6 b L‘
Gy 55|39
= — 6 | X
5 lis {10
3. Find the percentage of observations that is less than 6 H O 4

At doss

— -

9-31 8555 _y M Al
1-3 - 0.9 é 7L == I})/ /

6

4. Find the variance of the sample data —2,-1,0,1,2 9 ~ S‘

2_(:{_1‘_)_,:% :2»1—
L‘

5. Suppose that P(A) = 0.7, and P(B) = 0.5, and P(AUB) = 0.8. Find P(ANB) o.|

P(ANE) =Y
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6. Find the third quartile of the following sample data] 10
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A=np - 1y (03s)

5
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7. A box contains 5 red, 2 blue and 3 yellow balls. 3 balls are drawn, one at a time without replacement.

Find the probability of having a ‘r‘ej then a blue then a red ball. _""§’ = O. ¢ 5‘6}
: ) -
5 Z /kf
A
(VI | ¥

For questions 8-9. Consider a bell-shaped sample data. With mean 50 and standard deviation 14.
Suppose that the sample data is codedto Y =1 — 2z

8. Find the mean ¥ — qq ?; ""2'('5-‘0)

P P T

9. Find the 16th percentile of the coded data (i.e. Ps(Y)) __[ 2_:}

R o) =1-fp )

= |~ (6‘4) f?‘d = So+lY
= —l27 = 6

10. Suppose we have two boxes, Box A contains 4 red and 2 black balls, while box B contains 3 red and 3 black balls.
One box is selected and one ball is drawn at random from that box. If the probability of selecting box
A is § and the probability of selecting box B is 3. What is the probability that the drawn ball is red?
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First Exam ' Math 131
Summer 10-11

Name Student number Section Serial number

1. A set of exam marks has mean 60, median 55, IQR=20 and standard deviation=13 marks.
It is decided to subtract 8 from all the marks. For the new set of marks,

(a) What is the mean?] 5 2_

(b) what is the median? /_' 1

(c) what is the IQR? 20

(d) What is the standard deviation? \ 3
X | Frequency
6 3
2. Find the third quartile of the following sample data| 11 4 \6
14 5
16 4







3. A sample data with size 81 has mean X = 100 and standard deviation § = 20. At least how

many observations in the sample data are between 70 and 130.%

Lp6

4. Suppose that the mean of a population is 30. Assume the standard deviation is known to be

4 and that the frequency distribution is known to be bell-shaped.
Approximately what percentage of measurements fall in the interval ( 26, 38 )

N5 7,

5. From a group of 5 men and 7 women, how many different committees consisting of 3 men

and 2 women can be formed?] ( g )( z )

=210

6. The probability that a student passes Mathematics is 2/3 and the probability that he passes
English is 4/9. If the probability that he will pass at least one subject is 2/5, what is the

probability that he will pass both subjects?
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First Exam Math 131
Summer 10-11

Name Student number Section Serial number

1. A set of exam marks has mean 70, median 65, IQR=25 and standard deviation=15 marks.
It is decided to subtract 10 from all the marks. For the new set of marks,

. -, Thr=1%
= X=1b X = .
\r Nuxmc‘éb S =I5

(a) What is the mean? 60

(b) what is the median? 5 5

(¢) what is the IQR? 2 5

(d) What is the standard deviation? '9’

X | Frequency ‘?’ [
6 3 =2
2. Find the third quartile of the following sample data| 11 4 §
14 5 2 p—
18 4 Il

M+\Y _
+
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3. A sample data with size 54 has mean X = 100 and standard deviation S = 20. At least how

many observations in the sample data are between 70 and 1307 _/30 o) }3 5>,
. \.{ ~ £ —
n=?2 s ‘—B«J/L (*Jv("J ‘-/ s

Nie)‘&-ﬁ s @ e AN

k/
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4. Suppose that the mean of a population is 30. Assume the standard deviatiom=isleanews-to-be

20 20

4 and that the frequency distribution is known to be bell-shaped. on l e ,Q 22

r
Approximately what percentage of measurements m

X =30 S

i».f/ 22 3o 3“1
g

Ke =
=> 954

tees consisting o

5. From a group of 5 men and 7 women. how many diffe

andlwomen can be formed? (6‘3 ) (2:’ )

6. The probability that a student passes Mathematics is 2/3 and the probability that he passes
English is 4/9. If the probability that he will pass at least one subject is 4/5, what is the

probability that he will pass both subjects?

7. If P(A) = 0.25, P(B) = 0.5, compute P(A|B) in the following cases:

(a) If A and B are disjoint, then P(A|B) =

(b) If A and B are independent, then P(A|B) =







First Exam ‘ Math 131
Summer 10-11

Name Student number Section Serial number

1. A set of exam marks has mean 70, median 65, IQR=25 and standard deviation=15 marks.
It is decided to subtract 10 from all the marks. For the new set of marks,

(a) What is the mean? 6 O

(b) what is the median?] 6 s

(c) what is the IQR7 25

(d) What is the standard deviation? \ 5
X | Frequency
6 3

2. Find the third quartile of the following sample data [ 11 4 I 6

14 5
18 4







3. A sample data with size 54 has mean X = 100 and standard deviation S = 20. At least how

many observations in the sample data are between 70 and 1307 30

4. Suppose that the mean of a population is 30. Assume the standard deviation is known to be
4 and that the frequency distribution is known to be bell-shaped.

Approximately what percentage of measurements fall in the interval (22,34)

g\ 5/,

5. From a group of 5 men and 7 women, how many different committees consisting of 2 men

5 ( *F
and 3 women can be formed? (7’) 3 .)

= 350

6. The probability that a student passes Mathematics is 2/3 and the probability that he passes
English is 4/9. If the probability that he will pass at least one subject is 4/5, what is the

probability that he will pass both subjects?

Q

g

95
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3. A sample~data with iz 81 has mean X = 100 and standard deviation S = 20.
many observations in the sample data are between 70 and 1307 (%

Ke=30 =8 =
_ze-=h g = 199 T W e =
J

; ’,w [‘“W}‘P\j\-‘ /tﬁ =

=Y
4. Suppose that the mean of a population is 30. Assumne the standard deviation isknowntd-be

4 and that the frequency distribution is kuown to be bell-shaped. i 3\{ —

K$ =y
K =1
Eyy

5. From a group of 5 men and 7 women, how many different committees consisting of 2 men

and 3 women can be formed? Lg) (}

M= 5
~ T(Le) =H( o

6. The probability that a student passes Mathematics is 2/3 and the probability that he passes
English is 4/9. If the probability that he will pass at least one subject is 2/5, what is the

probability that he will pass both subjects? %2-; -0 N F( M UE> = %‘
PIMOE) = P+ PE)mp(MUE)
= Z I 7/
z T T 7

7. If P(A) = 0.5, P(B) = 0.25, compute P(A|B) in the following cases:

(a) If A and B are disjoint, then P(A|B) = 0

(b) If A and B are indepeudent, then P(A|B) = o 5
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First Exam Math 131
Fall 2012-2013

Name Student number Section: Serial number
Class | frequency )(j vl
For questions 1-3 consider the following table that represents a quiz results for 10 students 2 : g ; : : \‘:
9-11 4 ol
10 Ea

1. find the actual limits of the first class (:1 H- ;5\

2. Find the mean of this sample 7‘/.: =

oS
v
3. Find the percentage of observations that are less than 6 L,,B.Z A £.5.5
’ n-y =
—_ 955
‘ ’”, g 9
-y - 2\’9’
=l 3
4. Find the variance of the sample data —4,-2,0,2,4 l 0
X =0
a(l6)x2l) v iy
PR -~
\ b
5. Suppose that P(A) = 0.6, and P(B) = 0.4, and P(AUB) = 0.8. Find P(ANB) oL

P(Aap)- 0.6+t -0
0-%

. plp)-PLANE)
p(BaR) = Po\w o =e

—
-






6. A box contains 3 red, 4 blue and 2 yellow balls. 3 balls are drawn, one at a time without replacement.

Find the probability of having a red then a blue then a red ball. ,_SL 0 ,‘? . % o ""I(
X | frequency
15 2
7. Find the third quartile of the following sample data| 10 5 \ 5
1§ 4
5 S !
iy

For questions 3-4. Consider a bell-shaped sample data. with mean 30 and standard deviation 14.
Suppose that the sample data is codedto Y =1 — 2z

8. Find the mean Y —_ 5‘1

9. Find the 16th percentile of the coded data (i.e. Pig(Y)) ——g ’«F (- 7'( ‘1‘4)

10. Suppose we have two boxes, Box A contains 2 red and 4 black balls, while box B contains 3 red and 3 black balls.
One box is selected and from that box we draw one ball at random. If the probability of selecting box
A is 1/6 and the probability of selecting box B is 5/6. What is the probability that the drawn ball is

| B um

U 2p 7
v R 7

)+ W

6
62 \\"ﬁ
—x = - 34

2 3(, 36
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%M/ First Exam Math 131
Fall 2012-2013

Name Student number Section: Serial number
- __————___—C_'lass freque;cy '*J__’:g-
For questions 1-3 consider the following table that represents a quiz results for 10 students g : g Z 2 ix
9-11 4 1o Yo
L—_—

ad z

1. find the actual limits of the fir§t class 3.9 -1 9

2. Find the mean of this sample 7 . é

.:H%;]\ 4|C£

—
(o
57 |2
é
V] 9.9 6
3. Find the percentage of observations that are less than 6 gz é . 6 7 0 to
W9
T
N -
0 - 5 ; /\r
—
3
4. Find the variance of the sample data —5,~2,0,2,5 l LI \ 9
a(w)ral) _ 5043 _gf
M 1 -1
5. Suppose that P(A) = 0.7, and P(B) = 0.5, and P(AUB) = 0.8. Find P(ANB) 63

P(ARG) - o F 407~ 0-8







6. A box contains 4 red, 3 blue and 1 yellow balls. 3 balls are drawn, one at a time without replacement.

= 2
2}
“
g
(Y]

Find the probability of having a red then a blue then a red ball. \j— . :3_. . }—
y 3 ¢
frequency
2
5 / L‘
4
3 J

/Qa’b/%‘)ﬁ q\f/)\c?

For questions 3-4. Consider a bell-shaped sample data. with mean 60 and standard deviation 14.

Suppose that the sample data is coded to Y =1 — 2z

8. Find the mean Y —1\ ol

|- 2(F4)

9. Find the 16th percentile of the coded data (i.e. Pig(Y")) —_ I Y i

10. Suppose we have two boxes, Box A contains 4 red and 2 black balls, while box B contains 3 red and 3 black balls.
One box is selected and from that box we draw one ball at random. If the probability of selecting box
A is 1/6 and the probability of selecting box B is 5/6. What is the probability that the drawn ball is

red? \4 .«
’i-é‘ ~0929

| ye
g

m

30






e

f((s freq';e'rw'y
' ofc t&é following sample data| 9 5 ’ ‘
11 4
N 5 3
) N
\,:T\f *...J)‘l(a/_‘l'q) :_’Ll, ;’0\5 l “

7. A box contains 2 red, 1 blue and 3 yellow balls. 3 balls are drawn, one at a time without replacement.

Find the probability of having a red then a blue then a red ball. )6/0 —_ q \U\ ‘O
o (RBR) = 2 +
3 bo

TuRN6
—
For questions 8-9. Consider a bell-shaped sample data. With mean 40 and standard deviation 14.
Suppose that the sample data is coded to Y =1 — 2z

—

8. Find the mean Y

Vo 1 -2010)
- 99 t

X - X .»‘-S'
9. Find the 16th percentile of the coded data (i.e. Pig(Y)) —_ l 1) 7 I\ .
R, (,)»\-zfxn”) T =5Y
= |- 1\5‘4)

10. Suppose we have two boxes, Box A contains 4 red and 2 black balls, while box B contains 4 red and 2 black balls.

One box is selected and one ball is drawn at random from that box. If the probability of selecting box
Ais % and the probability of selecting box B is %. What is the probability that the drawn ball is red?
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p(8) =T
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First Exam
7-11-2012

Name Student number Section: Serial number

Fill the rectangular box with the _correct final answer.
Answers without solution details are not accepted.

Class | frequency | 2t ‘ "‘i
For questions 1-3. Consider the following table that represents a quiz results for 10 students 2 : Z ; f‘_ by
9-11 4 e 4o
79
1. Find the actual limits of the first class (3 - ; pu ; . 6)
2. Find the mean of this sample 7\°|
s ct
I A, i
o g5 | ©
3. Find the percentage of observations that is less than 6 , 8‘ Z 4 » i |0
s
| £-55
%‘; 35— 5.5
=3 A= | .31
1c
4. Find the variance of the sample data —3,-2,0,2,3 é \ 5
2x2M)_ _ 6§
 ——
Y
5. Suppose that P(A) = 0.6, and P(B) = 0.4, and P(AUB) = 0.8. Find P(ANB) O v L“
- af
QQ\“_@)’ PLAY - RLANL) . P(m\ﬂ):o\e.ot

PCAnR) = Pm)«em)— pLAvE
= 0\6’/’_\10\‘




Part B: Write down every step of your work. Each question is worth 4 marks.
Q6) A sample data has mean X = 30 and standard- deviation Sy = 12. Each
observation X in this sample is multiplied by —2 to produce a new sample. Find an
interval that contains at leastz—z of the observations in the new sample. .
K=y

G—— kgg ) 3 + ‘Kg_\j) | S:S = 2Y
—6o-i(24), _go 4 ¥(24)

C_\Bé , 34) WD
a

Q7) Let 4, B be events. Suppose that P(4]|B) = 0.2, P(A U B) = 0.6 and P(B) = 0.5.
Find P(A4).

P(P\UIS'): P(P\) —1—0\5._ 0\6(0‘1)
b = P(ﬁ)'#- 0




THE UNIVERSITY OF

JORDAN Department of Mathematics 103131 First Test
Name (in Arabic): ' ' Number:
Instructor’s name: Class days and time:

Part A: fill in the blanks with answers only. Each question is worth 2 marks.

Q1) Consider the following grouped sample data of 10 observations:
Class 2t04 5to7 8 tol0 11 to 13
_Frequency 4 3 2 1
a) the mean of this sample data equals.........cc.c........ 6 et ar s s s et st '
2
b) if one observation is selected from this sample and found to be greater than or JA

equal to 5, then the probability that it is in the 3 class (8 to 10) equals.... )/

c) the proportion of observations that are less than or equa] to 9 equals.. q/{ Q.. KE) ( \

Q2) Three numbers are randomly selected from the numbersg,zg 4\5 6LBC q /”"(g,’
without replacement. The probability that two numbers of them are odd equals

.........

Q3) A sample data contains 10 observations and has mean X = 4. The.gbse; ati 24 b '
10 in the sample is changed to 5. The mean of the new sample equals. % ..... 3.9 . A
Ho-ox9 ‘ N

Q4) Consider the following sample data of 24 observations
P 1121314561718

Frequency | 5 | 5 | 513 ]2 (2)1]1

L
The third quartxle @; of this sample data equals.... /,‘C)
é&wwo&l) x ?( e (e GCHS
o) gl " y . 5.4
9N ?“ - v AR % /"" T ‘i/‘ ? o 5‘;
¥y A < 7.
> e S o

) I

\«\ 9' Ve -f""l//—‘ jl
- g1 4l AU
T\ _,l&' ’/}‘1
e 25 20— = 2l e
L A

X
|
o~



observation X in this sample is multiplied by o produce a new sample. Find an
interval that contains at least E of the observations in the

'.——-—7'.—1

— -y — 20 —)w KT : \
aq) = -6 G4

Q7) Let A, B be events. Suppose that P(AIB) 0.2,P(AUB) =0.7and P(B) = 0.7.

Find P(4).
. PAEY = PLA) + PLR) - PLANR)
p(R sa = PR+ o3 - PLAIRDFIR)

= i) - er(od)

0N +o.0b "—“'\Olﬁ‘)'

Y {)(P\") = oMb
b

olp v~




THE UNIVERSITY OF

JORDAN Department of Mathematics 103131 First Test
Name (in Arabic): Number:

Instructor’s name: Class days and time:

Part A: fill in the blanks with answers only. Each question is worth 2 marks.

Q1) Consider the following grouped sample data of 10 observations:
Class 2to4 5t07 8 010 11 to 13
Frequency 3 3 2 2
a) the mean of this sample data equals&ol

b) if one observation is selected from this sample and found to be greater than
equal to 5, then the probability that it is in the 3 class (8 to.10) equals......... % ,/?

c) the proportion of observations that are less than or equal to 9 equals.... % 0 = 0\ O

Q2) Three numbers are randomly selected from the numbers 1 2, 3 4, 5 6, 7 8 vnthc_:u_t—-(’,l’> (

replacement. The probability that two numbers of them are odd equals....

Q3) A sample data contains 10 observations and has mean X = 6. The obseg'anon ,
10 in the sample is changed to 5. The mean of the new sample equals......H52.2........

Q4) Consider the following sample data of 24 observations
X 11213415161 7]8
Frequency { 3 | S| S}14]12|2]2]1

The third quartile Q5 of this sample data equals6




Part B: Write down every step of your work. Eaclllvque‘stio.n is worth 4 marks.
Q6) A sample data has mean X = 30 and standard deviation Sy = 10. Each
observation X in this sample i 1s multiplied by —2 to produce a new sample. Find an

interval that contams at least - of the observations in ample.

_—60

;z,)"io . :‘;__k.sj —\? | ?‘\'_KS,
RN N

Jower = —60‘,(4(24)) -.=.-f'l"fD
Upper = —bo + Y(wy = 20

Q7) Let 4, B be events. Suppose that P(4|B) = 0.2, P(4 U B) = 0.6 and P(B) = 0.6.
Find P(4). p(B) _f,o\ﬁf @
‘a(ﬁm;),_ PUAIR) PLB) |

= 0.2 (e, “) _
= .0k @ B B |
P(AVE) - PLAY A (R —fLAnR) l\Coes T
A |67
7W\Mq\/¢«? l o 0vb (
O

ob = P(‘ﬁ) oM — © 6?:\\

pif=e.25 | .




°Tneumvmsmor

. JQRDAN Department of Mathematics 103131 First Test
Name (in Arabic): Number:

Instructor’'s name: ‘ Class days and time:

Part A: fill in the blanks with answers only. Each question is worth 2 marks.

Q1) Consider the following grouped sample data of 10 observations:
Class 2t04 5to7 8 tol0 11 to 13
Frequency 2 3 2 3

a) the mean of this sample data equals,.u......".z ‘8 ........................................................

OV\.
b) if one observation is selected from this sample and found to be greater thim or & {
equal to 5, then the probability that it is in the 37 class (8 to 10) equals.../\.,\... c//i//
2
g
c) the proportion of observations that are less than or equal to 9
equals........... .,[é— . =g, 6
V) ‘
¢ - .51
Q2) Three numbers are randomly selected from the numbers 1,2,3,4,5,6,7 wi& ‘zg 7 ) - L1 =
replacement. The probability that two numbers of them are odd equals........[\.»;,j. ! =32
__———"'//
_ i &)
Q3) A sample data contains 10 observations and has mean X = 7. The observation
10in the sample is changed to 5. The mean of the new sample equals......... é:; W d‘
° ¢
Q4) Consider the following sample data of 24 observations Q/”/ .
X 112({3141516]7]8 \\
Frequency | 2 | S | 51313 ]2 }]2]2 ~ :
The third quartile Q3 of this sample data equalsag /\&,7
'



Part B: Write down every step of your work. Each question is worth 4 marks.
Q6) A sample data has mean X.=30 and standard deviation Sy =8. Each
observation X in this sample is muitiplied by —2 to produce a new sample. Find an

interval that contains at least -;—2 of the observations in the new sample. ‘ @
<<‘j~f<5», ) J*K§ﬂ> —
- y = —-'AO
- o ) -——6'\ +\ ' > f
Foo-ulie) | 6o 6)) S, 2=k

('_‘ o q> T

Q7) Let A, B be events. Suppose that P(4|B) = 0.2,P(AUB) = 6161@?(5) =0.7.
Find P(A). T A
P(AUB) = P(A) -+ p(B) - PIR1B) ¢/F)
= PAY+03 T 0.2(0.7)
6. = PIAY £ 071
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THEUNVERSTYOF . , _ 7 . |
JORDAN Department of Mathematics "~ - 103131 First Test.
Name (in Arabicj: "~ " Lo . Nu;'mber:
Instructor’s name: ' Class days and time:

Part A: fill in the blanks with answers only. Each question is worth 2 marks.
Q1) Consider the following grouped sample data of 10 observations:
Class 2t04 S5to7 8 tol0 11 to 13
Frequency 1 3 2 ‘ 4

a) the mean of this sample data equals..........cccrvvcerrure. g X :

................................................

b) if one observation is selected from this sample and found to be gre th
equal to 5, then the probabi;jty that it is in the 3™ class (8 to 10) equals....
CER I L;_,j e )
Q"j‘s :;icj ' c) the propdrtion of observations that are less than or equal to 9 equals....5l/,£()...
5 . .

o Q2) Three numbers are randomly selected from the numbers@,z@@ﬁ without ' 2\ ) =3 @) ‘
replacement. The probability that two numbers of them are odd equals..........c....ccc... ( (J—Er 4 ‘
3 A ‘

Q3) A sample data contains 10 observations and has mean X = 8. The observation
10 in the sample is changed to 5. The mean of the new sample equals....... #¢.5........

Yo—9
Q4) Consider the following sample data of 24 observations

x 1112 ]1314|5[6]7]8
Frequency | 1 | 5| 513 ]2 ]3121]3

The third quartile Q5 of this sample data equals.............. é ............................................

/
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‘ A
(2l z\. l]

&) " 1.

313

31 =3

2 '2_1,\ '-5" 3\‘ —3!‘ 'bll

gL—" 2121 6\
3L







S S = = 0.9

PG ) - r(e@ e T
751 04
| |
L X)) _
._ O LK)
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¢ (39) =o.y

F(ég):( — o L\ —_‘ogé




Ko ~2 —2% 2 -Z%Ay X T 2K,

\’1 _2

Part B: Write down every step of your work. Each question is worth 4 marks.
Q6) A sample data has mean X =30 and standard deviation Sx =8. Each
observation X in this sample 1s multiplied by —2 to produce a new sample Find an

interval that contains at least of the observat:ons in the new sample.

7< =30 P 5(:@&)9 3

meanfy) = -2 (X) ﬁt/—,é_g MMMMMM N
st=(Y) = ’»‘&1 stel) _sStaly) = - 2/@
w=Y + k& . =L =15

W= -60 +<"—\)Qé> Fad

e
W = _L( \"—ks
2 = \( ~ks -
= 60 - ()16

2 =24
Q7) Let A, B be events. Suppose that P(A]B) = 0.2,P(AU B) = 0.6 and P(B) = 0.7.
Find P(4). T T

P(A1BY = PCADR)

IR~ T =23
PCA u@) P(A) wc@) eCANR)

PCAOR) = AR+ A3 — P(AUB) ----
PCANBI= pP(pIB) PB) --- &

CR) + ) - P(AUB) = P(RIB) PLB)

"/\1

PR + 0% - 0. = (02X o3
P(A}—‘O-_B - Oé
PPz o. + 93



classe }f xc‘g;gg‘) x¥
2-y |t > 132
"5_;, 3 6 | %
B-10] 2 9_ '
-1 o b %

{ 10 émauuwmsmo; 75 I

JORDAN Department of Ma 103131 First Test

Name (in Arabic): 24+ )\3\ ()"X*P —fu-c " Number: - 6é

Instructor’s name: )Xb)\ L)wf\ D Class days and time: 980~ Y

"

/art A: fill in the blanks with answers only. Each question is worth 2 marks.
Q1)Xonsider the following grouped sample data of 10 observations:

Class 2t04 5t07 8 to10 11 to 13/
Frequency 1 3 2 _ 4/

a) the mean of this sample data equals.... i X%,
4]

equal to 5, then the probability that it is in the 3¢ class (8 to 10) equals...
,P”"U\ les El'lqn 5K =0O. | , %N‘ter thay, or Czqq[ = 0_9

@ Three numbers are randomly selected from the numbers 1,2,3,4,5,6 witho
eplacement. The probability that two numbers of them are odd equals.............

2 ochQ ~\-1Q\Ieﬂ & ‘ 3 /\22\

Q3) A sample data contains 10 observations and has mean X =8 The observati
10 in the sample is changed to 5. 5. The mean of the new sample equals..... ?.

2x= =
mJ >< Hew 7 o)
f X Q}Eonsider the following sample c{ata of 24 observations
X 112131451 6]718
Frequency | I | 5 [ 5 (312 )3]|2]3

The third quartile Q; of this sample data equals.......\.....- 5% cveecrrrermeremmsesessernecenn
Q> = 3y =2 ? |
L-nf RL=CYES) =19 |

stﬁ‘;.: \/q"&tzcé1$> FVO"“__Q(I’%) ‘ |




(Q4) A bell shaped sample data has mean X = 40 and standard deviation S = 15. What is the percentage

of observations in this sample data phat 2¥d between 70 and 85.
A)13.5% B)15.5% 2% D)2.5%

(Q5) Consider a collection of observations {measured to the nearest integer) with minimum observation=9
and maximum observation 67. If we wish to organize these observations using frequency table of 6

of equal width (length). Find the the width of each class.
m B)9 )8 Dy

(Q6) Given the following information:

Box I: contains 2 Red and 4 Black balls.
Box II: contains 4 Red and 2 Black balls.

One box is chosen randomly with probability (1/2) and then one ball is drawn. Find
{a) P(drawn ball is red | Box I was cho

A)3 B)L C)2 D)3

(b)P{dgawn ball is red)
@ B)% 0% D)%

(c) P(Box I is drawn | ball grSwnis rbd)
A B)$ O)3 D)1
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(Q1) Given the following table| 6-8 2
1T 1 ~
12-14 5

)

(a) pimaghe mo

(b) Find the mean
A)6.5 BY6.7 @ D)6

eg, of observations that are greater than 5.5 and smaller than 11.5
C)70% DY90%

Consider the following information about a sample
| Median=2 | Standard Deviation=3 [ First Quartile=1 | Third Quartile=3 |
Assume that all values of X are transformed to Y = 4 — 2X, find

(a) The standard deviation ¢
A)2 B)4 @ D)3

(b) The first quartil
A)-10 B)~2 C)o D)-6

(Q3) Let A and B be two events in the same sample space such that P(4) = 0.2, P(B) = 0.4, A and B are
ipdependent. Find P(AU B)?

B)0.8 )10 D)0.88

|
|
|
1
i




X | frequency
16 2
6. Find the third quartile of the following sample data| 8 3 I L'I
14 4
‘ 5 1
S
/Q < ‘\? 1\//’*‘3
PRt
e

7. A box contains 4 red, 3 blue and 1 yellow balls. 3 balls are drawn, one at a time without replacement.

Find the probability of having a red then a blue then a red ball. -3/ —a ( V) /'?/
2 1.1 29

( Y,
W% plRER) =7 F
\

For questions 8-9. Consider a bell-shaped sample data. With mean 60 and standard deviation 14.
Suppose that the sample data is coded to Y =1 - 2z

8. Find the mean Y — ‘\q

9. Find the 16th percentile of the coded data (i.e. Pig(Y)) —_— , Lt %
AR by 00
=\1-2( ?‘«)

10. Suppose we have two boxes, Box A contains 4 red and 2 black balls, while box B contains 3 red and 3 black balls.

One box is selected and one ball is drawn at random from that box. If the probability of selecting box
Ais -:; and the probability of selecting box B is %. What is the probability that the drawn ball is red?

19 _
i) g -
15
=y pLE)= % |

PRI = H A=,

ORI
M4
16 N I

529
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Name Student number Section: Serial number

Fill the rectangular box with the correct final answer.
Answers without solution details are not accepted.

Class | frequency | X kd‘ i
For questions 1-3. Consider the following table that represents a quiz results for 10 students g : g ; Q_'} : &
9—11 4 iolve -
Fu
1. Find the actual limits of the first class ( 2.5 5, 5 )
2. Find the mean of this sample q» . Cf

e

N lo —f | ¢

X - o 55|99

o

] ; o s
3. Find the percentage of observations that is less than 6 .“ 3\ 3 /
(V]

A4 5.5

- e s
b-u $:5-55
-\ - 0\5

e,

v T 7

4. Find the variance of the sample data —4,-2,0,2,4 lo

x°

n-\

[

. Suppose that P(A) = 0.6, and P(B) = 0.4, and P(AUB) = 0.8. Find P(ANB) O 2_

e THR)- pLAeR)
ttﬁ“‘n,’ o T O\H,-OJL—]_
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First Exam Math 131
7-11-2012
Name Student number Section: Serial number

Fill the rectangular box with the correct final answer.
Answers without solution details are not accepted.

Class | frequency | # LX_B

For questions 1-3. Consider the following table that represents a quiz results for 10 students g : g i : 2?!
911 4 ic | Mo
1)

1. Find the actual limits of the first class (Q 5. 5, 6)

2. Find the mean of this sample ﬁ - q . e

[¥]
S !
3. Find the percentage of observations that is less than 6 02 é ' é t 0/

4. Find the variance of the sample data —5,-2,0,2,5 ’5‘/3’“ == IL’. s
v

5. Suppose that P(A) = 0.7, and P(B) = 0.5, and P(AUB) = 0.8. Find P(ANB) @ \3

PIAUB)= {(R) +P(B) — PIANE)
1@&--?— rovr-0.Y

VAOE) - IR — ¢LR0R)

- qu’f-oxk’ :0\’1







X | frequency
16 2
6. Find the third quartile of the following sample data] 10 5 l (,}

For questions 8-9. Consider a bell-shaped sample data. With mean 30 and standard deviation 14.
Suppose that the sample data is coded to Y =1 — 2z

8. Find the mean ¥ — 5 q

p—

Y::l—-l; = |-2 (ZU): V- 60

9. Find the 16th percentile of the coded data (i.e. Pig(Y")) — y q . S’
i o Xx
Rely)= I-2 [ D = oy
= -2 (4Y) = U

10. Suppose we have two boxes, Box A contains 2 red and 4 black balls, while box B contains 3 red and 3 black balls.
One box is selected and one ball is drawn at random from that box. If the probability of selecting box
A is § and the probability of selecting box B is 3. What is the probability that the drawn ball is red?

A P
j_{é 33% % =047
PR =g P(F)=5/,
&) = =+
-5 fRIB=Tg

yi5) + 2
_2_+~'—5'" ;(q/zé
T
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